

LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

		Affiliated to Federation Intern	nationale Des Experts En Autom	nobile	
AXA IN	ISURANCE PTE	LTD	Ref : CC6/AXA14023	3904/Kpa3s2-1	
8 SHENTON WAY #24-01 AXA TOWERSINGAPORE 068811			Date: 18-03-2020		
ATTN: STACEY NG			Code: AXA2		
1.		Policy Particula	ars :- THIRD PARTY CLA	IM	
I	nsured Veh.	YL 3958H	Veh. Inspected	SJR 7550U	
F	Policy No.	P0813281	Coverage (\$)	0.00	
	Claim No.		Excess (\$)	0.00	
1	Assign From		Assign Date	22/08/2016	
2.	100000000000000000000000000000000000000	Vehicle P	articulars & Condition		
	Make & Model	HONDA JAZZ (A)	c.c	1339	
E	Engine No.	HIDDEN	Year of Reg.	2009	
	Chassis No.	JHMGE68509S221454	Colour	METALLIC SILVER	
	Odometer	226917	Steering	IN ORDER	
E	Brakes	IN ORDER	Modification	NIL	
	General	GOOD			
3.		Con	ditions of Tyres		
\neg		Size	Make	Balance	
F	R/H Front Tyre	175/65R15	DUNLOP	6 mm	
L	JH Front Tyre	175/65R15	DUNLOP	6 mm	
F	R/H Rear Tyre	175/65R15	BRIDGESTONE	4 mm	
L	_/H Rear Tyre	175/65R15	BRIDGESTONE	4 mm	
4.		Descr	iption of Damages		
1	THE VEHICLE SU	STAINED DAMAGES AT THE	REAR PORTION.		
	DAMAGES SEE D	ETAILS.			
5.	ALTERNATIONS.	Gen	eral Information		
1	Accident Date	20/12/2014	Inspection Date	22/12/2014	
	Survey held at	K.KIM HIN AUTOMOTIVE P	TE LTD		
		59 LOYANG DRIVE SINGAPORE 508969			
5a.			Remarks		
Æ	A)THE INSPECTION B)IN ACCORDANCE	ON WAS CONDUCTED ON A'CE TO YOUR INSTRUCTIONS	WITHOUT PREJUDICE" BAS S, WE HAVE NOT AUTHORIS	SIS. SED REPAIRS.	
5b.		Estim	ate Days of Repair		

14 Working Days

ESTIMATED NORMAL PERIOD FOR REPAIR:



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 3

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. SJR 7550U

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -
1	REAR BUMPER (CONSISTENT)	BENT	438.10	438.10
	REAR BUMPER TOWING COVER (CONSISTENT)	MISSING	16.00	16.00
1	REAR BUMPER TOWING BRACKET (CONSISTENT)	BENT	12.00	12.00
8	REAR BUMPER CLIPS @ \$6.00 (CONSISTENT)	NECESSARY	48.00	48.00
2	REAR BUMPER SIDE RETAINER (LH&RH) @ \$18.00 (CONSISTENT)	DISTORTED	36.00	36.00
1	TAILGATE (CONSISTENT)	BENT	680.20	680.20
1	TAILGATE LOCK (CONSISTENT)	DENTED	189.00	189.00
1	TAILGATE LOCK CATCH (CONSISTENT)	BENT	21.00	21.00
1	TAILGATE GLASS (CONSISTENT)	SHATTERED	553.20	553.20
4	TAILGATE GLASS MOULDING @ \$38.00 (CONSISTENT)	NECESSARY	152.00	152.00
1	O/S TAILGATE RUBBER STOPPER (CONSISTENT)	TORN	16.00	16.00
1	TAILGATE "JAZZ" EMBLEM (CONSISTENT)	NECESSARY	24.20	24.20
1	TAILGATE OUTER GARNISH (CONSISTENT)	CRACKED	110.10	110,10
1	TAILGATE OUTER PULL HANDLE (CONSISTENT)	SERVICEABLE	71.00	
1	TAILGATE "H" LOGO (CONSISTENT)	NECESSARY	21.00	21.00
1	TAILGATE INNER TRIMBOARD (CONSISTENT)	BUCKLED	98.00	98.00
1	TAILGATE INNER TRIMBOARD HANDLE (CONSISTENT)	DENTED	38.00	38.00
2	TAILGATE DAMPER (LH&RH) @ \$125.00 (CONSISTENT)	BENT	250.00	250.00
2	TAILGATE HINGES (LH&RH) @ \$32.00 (CONSISTENT)	DISTORTED	64.00	64.00
1	TAILGATE THIRD BRAKE LAMP (CONSISTENT)	DENTED / CUT	155.00	155.00
2	REAR NUMBER PLATE LAMP @ \$34.00 (CONSISTENT)	MTG CRACKED 1PC ONLY	68.00	34.00
1	REAR WIPER ARM C/W CAP COVER (CONSISTENT)	MISSING	48.00	48.00
1	REAR WIPER BLADE (CONSISTENT)	CUT	39.60	39.60
1	REAR WIPER MOTOR (CONSISTENT)	JAMMED	190.00	190.00
2	TAILLAMP ASSY (LH&RH) @ \$206.20 (CONSISTENT)	BROKEN	412.40	412.40
2	TAILLAMP PANEL (LH&RH) @ \$123.00 (CONSISTENT)	BENT	246.00	246.00
1	REAR END PANEL (CONSISTENT)	BENT	255.30	255.30
1	REAR END PANEL TOP GARNISH (CONSISTENT)	DENTED	76.00	76.00
1	SPARE TYRE TOP BOARD (CONSISTENT)	DEFORMED	175.00	175.00

Report Ref No. CC6/AXA14023904/Kja3s2



LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 3

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	SPARE TYRE SPONGE COMPARTMENT (CONSISTENT)	CRACKED	215.00	215.00
	SPARE TYRE LOCK SCREW (CONSISTENT)	TO REPAIR SEE LABOUR	37.60	P-
2	REAR FENDER (LH&RH) @ \$602.10 (CONSISTENT)	BUCKLED	1,204.20	1,204.20
2	REAR FENDER INNER AIR GRILLE (LH&RH) @ \$26.00 (CONSISTENT)	SERVICEABLE	52.00	-
2	REAR FENDER INNER GARNISH (LH&RH) @ \$170.00 (CONSISTENT)	BUCKLED	340.00	340.00
2	REAR FENDER INNER TOP GARNISH (LH&RH) @ \$89.00 (CONSISTENT)	SERVICEABLE	178.00	
2	REAR FENDER INNER SHIELD (LH&RH) @ \$172.00 (CONSISTENT)	CRACKED	344.00	344.00
2	FLOOR PANEL EXTENSION (LH&RH) @ \$110.00 (CONSISTENT)	BENT	220.00	220.00
1	REAR EXHAUST HEAT SHIELD (CONSISTENT)	BENT	55.00	55.00
2	REAR EXHAUST MOUNTING @ \$18.00 (CONSISTENT)	DISTORTED	36.00	36.00
1	SPARE TYRE PANEL (CONSISTENT)	BENT	737.00	737.00
	LESS 20% DISCOUNT		-1,584.38	-1,509.86
			6,337.52	6,039.44
	SPECIAL NETT ITEMS			
1	TAILGATE GLASS SEALANT (SN) (CONSISTENT)	NECESSARY	40.00	40.00
1	TAILGATE GLASS DAMPING SEAL (SN) (CONSISTENT)	NECESSARY	20.00	20.00
	REAR NUMBER PLATE (SN) (CONSISTENT)	DENTED	40.00	40.00
	TAILLAMP BULB - BIG @ \$10.00 (SN) (CONSISTENT)	NECESSARY	20.00	20.00
2	TAILLAMP BULB - SMALL @ \$10.00 (SN) (CONSISTENT)	NECESSARY	20.00	20.00
2	TAILLAMP SIGNAL BULB @ \$8.00 (SN) (CONSISTENT)	NECESSARY	16.00	16.00
2	REAR FENDER GLASS SEALANT (LH&RH) @ \$40.00 (SN) (CONSISTENT)	NECESSARY	80.00	80.00
2	REAR FENDER GLASS DAMPING SEAL (LH&RH) @ \$20.00 (SN) (CONSISTENT)	NECESSARY	40.00	40.00
			276.00	276.00
	LABOUR			
	TO REMOVE, CUT OUT DAMAGED PARTS, PANEL BEATING, WELDING, ALIGN, REFIX AND TO RENEW AFFECTED PARTS. INCLUSIVE OF THE REPAIR OF SPARE TYRE LOCK SCREW.		1,800.00	1,600.00

Report Ref No. CC6/AXA14023904/Kja3s2



(TO ITS PRE-ACCIDENT CONDITION)

LKK Auto Consultants Pte Ltd

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 3

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	TO REMOVE AND RENEW REAR WINDSCREEN GLASS AND CONDUCT WATER LEAK TEST.		120.00	120.00
	TO REMOVE AND REFIT REAR UPHOLSTERY TRIMMING, ROOF LINING, SEATS, SPEAKER BOARD IN ORDER TO FACILITATE REPAIRING WORKS.		180.00	120.00
	TO CHECK AND REALIGNMENT ON CHASSIS MEMBER.		300.00	250.00
	TO APPLY UNDERSEALING.		150.00	150.00
	TO REMOVE AND RENEW EXHAUST SILENCER BOX.		60.00	60.00
	TO TRANSFER TAILGATE'S FITTINGS.		80.00	60.00
	TO REMOVE AND REFIT PETROL TANK IN ORDER TO FACILITATE REPAIRING WORKS.		160.00	80.00
	TO PUTTY AND RESPRAY ON AFFECTED PORTIONS.		1,580.00	1,440.00
	TO FOCUS TAILLAMPS. TO CHECK REAR WIRING AND LIGHTING OPERATION.		50.00	20.00
	The state of the s		4,480.00	3,900.00
	GRAND TOTAL		11,093.52	10,215.44
5756	RECOMMENDED COST OF LUMP SUM REPAIRS			9,200.00

Report Ref No. CC6/AXA14023904/Kja3s2

KSZ

KONG SENG CHEONG

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.